

Name:

Klasse:

Datum:

Einfache Subtraktion

Ziehe von den 10 Sternen die durchgestrichenen Sterne ab und notiere das Ergebnis.



$$10 - 3 = 7$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$



$$\underline{\quad} - \underline{\quad} = \underline{\quad}$$

Name:

Klasse:

Datum:

Lösung

Einfache Subtraktion

Ziehe von den 10 Sternen die durchgestrichenen Sterne ab und notiere das Ergebnis.

Viel Erfolg!



$$10 - 3 = 7$$



$$10 - 5 = 5$$



$$10 - 1 = 9$$



$$10 - 8 = 2$$



$$10 - 6 = 4$$



$$10 - 4 = 6$$



$$10 - 2 = 8$$



$$10 - 9 = 1$$



$$10 - 7 = 3$$



$$10 - 5 = 5$$



$$10 - 3 = 7$$



$$10 - 6 = 4$$